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General Studies Model Questions – 7 

101. Match List I with List II : 

  List I     List II 

(a) Apple falls from tree    1. Frictional Force 

(b) Car comes to stop    2. Electric Force 

(c) Beam of Ink drops in printer   3. Buoyant Force 

(d) Helium Balloon rises from Land  4. Gravitational Force 

  (a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 2 4 1 

(C) 4 1 2 3 

(D)  2 3 1 4 

Ans - (C) 4 1 2 3 

gl;bay; I-I gl;bay; II cld; nghUj;Jf : 

  gl;bay; I      gl;bay; II 

(a) kuj;jpy; ,Ue;J tpOk; Mg;gps;   1. cuha;T tpir 

(b) jhdhf epw;Fk; kfpOe;J    2. kpd; tpir 

(c) ,ae;jpu mr;rpy; tpOk; ik    3. ghahz;l; tpir 

(d) jiuapypUe;J gwf;Fk; P̀ypak; gY}d;  4. GtpaPh;g;G tpir 

  (a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 2 4 1 

(C) 4 1 2 3 

(D)  2 3 1 4 

Ans -  (C) 4 1 2 3 

2. What are deuterium and tritium ? 

 (A) Two different elements   (B) two different compounds 

 (C) names of two ores    (D) isotopes of hydrogen 

Ans - (D) isotopes of hydrogen 
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 bA+l;Bhpak;> bhpbak; vd;git vd;d? 

(A) ,U NtW jdpkq;fs;   (B) ,U NtW Nrh;kq;fs; 

(C) ,U fdpkq;fs; (jhJf;fs;)  (D) i`l;u[dpd; INrhNlhg;Gfs; 

Ans - (D) i`l;u[dpd; INrhNlhg;Gfs; 

103. Match the following  

 I. Carbon dioxide  (a) Vulcanization of rubber  (i) insecticide 

 II. Fuel    (b) Carbon black   (ii) beverages 

 III. Rubber tires   (c) Fire extinguisher   (iii) ink pigment 

 IV. Carbon disulphide  (d) Reducing agent   (iv) carbon monoxide 

(A) I – (c) – (ii)  II – (d) – (iv)   III – (b) – (iii)  IV  - (a) – (i) 

(B) I – (c) – (iii)  II – (d) – (ii)  III – (b) – (i)  IV – (a) – (iv) 

(C) I – (a) – (i)  II – (b) – (iii)  III – (d) – (iv)  IV – (c) – (ii) 

(D) I – (b) – (iv) II – (d) – (ii)  III – (c) – (iii)  IV – (a) – (i) 

Ans - (A) I – (c) – (ii)  II – (d) – (iv)   III – (b) – (iii)  IV  - (a) – (i) 

 gpd;tUtdtw;iw nghUj;Jf. 

 I. fhh;gd;ilahf;irL  (a) ,ug;gh; kpUJthf;fy; (i) G+r;rpf;nfhy;yp 

 II. vhpnghUs;   (b) fhh;gd; fWg;G  (ii) Fbghdq;fs; 

 III. ,ug;gh; lah;fs;  (c) jPaizg;Gf; fUtp  (iii) ik epwkp 

 IV. fhh;gd;il ry;igL  (d) xLf;F fuzp  (iv) fhh;gd; Nkhdhf;irL 

(A) I – (c) – (ii)  II – (d) – (iv)   III – (b) – (iii)  IV  - (a) – (i) 

(B) I – (c) – (iii)  II – (d) – (ii)  III – (b) – (i)  IV – (a) – (iv) 

(C) I – (a) – (i)  II – (b) – (iii)  III – (d) – (iv)  IV – (c) – (ii) 

(D) I – (b) – (iv) II – (d) – (ii)  III – (c) – (iii)  IV – (a) – (i) 

Ans - (A) I – (c) – (ii)  II – (d) – (iv)   III – (b) – (iii)  IV  - (a) – (i) 

104. Match the following : 

 (a) Pyridoxine    1. Vitamin B5 

 (b) Riboflavin    2. Vitamin B1 

 (c) Thiamine    3. Vitamin B6 

 (d) Niacin    4. Vitamin B2 

  (a) (b) (c) (d) 
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 (A) 2 1 3 4 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D) 3 2 4 1 

Ans - (C) 3 4 2 1 

 gpd;tUtdtw;iw nghUj;Jf : 

 (a) ighplhf;rpd;     1. itl;lkpd; B5 

 (b) iuNghgpstpd;    2. itl;lkpd; B1 

 (c) jahkpd;     3. itl;lkpd; B6 

 (d) epahrpd;     4. itl;lkpd; B2 

  (a) (b) (c) (d) 

 (A) 2 1 3 4 

 (B) 4 3 1 2 

 (C) 3 4 2 1 

 (D) 3 2 4 1 

Ans - (C) 3 4 2 1 

5. Five kingdom classification was proposed by 

 (A) Wittaker     (B) Dickens   

(C) Charles Darwin    (D) Carl Linnaeus 

Ans - (A) Wittaker  

Ie;Jyf tifghl;bidj; Njhw;Wtpj;jth; 

(A) tpl;Nlf;fh;     (B) bf;fd;]; 

(C) rhh;y]; lhh;tpd;    (D) fhh;y; ypd;Nda]; 

Ans - (A) tpl;Nlf;fh;  

106. Match List I (vaccine) with List II (disease) and choose the correct answer : 

  List I     List II 

 (a) Pertusis    1. Typhoid 

 (b) Varicella    2. Chicken pox 

 (c) TAB    3. Polio 

 (d) OPV    4. Whooping cough 
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  (a) (b) (c) (d) 

 (A)  4 1 2 3 

 (B) 4 2 1 3 

 (C) 2 4 3 1 

 (D) 3 2 4 1 

Ans - (B) 4 2 1 3 

gl;bay; I-I (jLg;G+rp) gl;bay; II cld; (Neha;fs;) nghUj;jp> rhpahd tpilia 
Njh;e;njLf;f : 

  gl;bay; I    gl;bay; II 

(a) ngh;bA+rp];      1. ilgha;L fha;r;ry; 

(b) thhpnry;yh      2. rpd;dk;ik 

(c) TAB      3. NghypNah 

(d) OPV      4. ff;Fthd; ,Uky; 

  (a) (b) (c) (d) 

 (A)  4 1 2 3 

 (B) 4 2 1 3 

 (C) 2 4 3 1 

 (D) 3 2 4 1 

Ans - (B) 4 2 1 3 

107. Selling equity shares of public sector enterprises referes to 

 (A) Bull market     (B) Exchange of shares 

 (C) Disinvestment    (D) Open market operations 

Ans - (C) Disinvestment 

 nghJj;Jiw epWtdq;fspd; gq;Ffis jdpahUf;F tpw;gij Fwpg;gJ 

 (A) fhis mq;fhb    (B) gq;Ffs; ghpkhw;wk; 

 (C) KjyPl;L fiyg;G    (D) jpwe;j mq;fhb eltof;iffs; 

Ans - (C) KjyPl;L fiyg;G 

108. In calculating the country’s GNP at market prices which one  of the following is not included? 

 (A) subsidies    (B) wages and salaries before tax 

 (C) indirect taxes   (C) depreciation allowance 
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Ans - (C) depreciation allowance 

re;ij tpiyfs; mbg;gilapy; ehl;bd; nkhj;j Njrpa cw;gj;jpia fzf;fPL nra;Ak; 
nghOJ> fPotUtdtw;wpy; ve;j xd;W Nrh;j;Jf; nfhs;sg;gLtjpy;iy? 

(A) khdpaq;fs;    (B) thpf;F Ke;ija rk;gsk; kw;Wk; Cjpak; 

(C) kiwKf thpfs;   (D) Nja;khd gb 

Ans - (D) Nja;khd gb 

109. National Small Industries Corporation (NSIC) was established in the year 

 (A) 1950  (B) 1955  (C) 1960  (D) 1965 

Ans - (B) 1955 

 Njrpa rpWnjhopy;fs; fofk; (NSIC) cUthf;fg;gl;l tUlk; 

 (A) 1950  (B) 1955  (C) 1960  (D) 1965 

Ans - (B) 1955 

110. The basic aim of economic planning in India is promoting 

 (A) economic development   (B) increasing national income 

 (C) economic growth    (D) increasing employment opportunities 

Ans - (C) economic growth  

,e;jpahtpy; nghUshjhu jpl;lkpLjypd; mbg;gil Nehf;fk; 

(A) nghUshjhu Kd;Ndw;wk;    (B) Njrpa tUthia mjpfhpj;jy; 

(C) nghUshjhu tsh;r;rpia nfhz;LtUjy;   (D) Ntiytha;g;ig mjpfhpj;jy; 

Ans - (C) nghUshjhu tsh;r;rpia nfhz;LtUjy; 

111. Which of the following are the sources to know about “Kalabhras”? 

 I. Tamil Navalar Charithai   

 II. Yapperungalam 

 III. Periya Puranam 

 IV. Velvikkudi Plates 

(A) I and II only    (B) I and III only 

(C) I, II, III and IV    (D) I, III and IV only 

Ans - (C) I, II, III and IV 

fPo;f;fz;ltw;wpy; vit “fsg;gpuh;fs;” gw;wp mwpa cjTk; %yq;fs; MFk;? 

I. jkpo; ehtyh; rhpij 
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II. ahg;ngUq;fyk; 
III. nghpaGuhzk; 
IV. Nts;tpf;Fbg; gl;lak; 

(A) I kw;Wk; II kl;Lk;    (B) I kw;Wk; III kl;Lk; 

(C) I, II, III kw;Wk; IV    (D) I, III kw;Wk; IV kl;Lk; 

Ans - (C) I, II, III kw;Wk; IV 

112. Match the following : 

 (a) Fort William was built in Calcutta   1. 1503 

 (b) Dutch established factories in Pulicat   2. 1700 

 (c) French established factories in Pondicherry  3. 1610 

 (d) Albuquerque visited India    4. 1674 

  (a) (b) (c) (d) 

 (A) 2 1 3 4 

 (B) 2 4 3 1 

 (C) 2 3 4 1 

 (D) 2 3 1 4 

Ans - (C) 2 3 4 1 

 fPo;f;fz;ltw;iw nghUj;Jf : 

(a) tpy;ypak; Nfhl;il fy;fj;jhtpy; fl;lg;gl;lJ  1. 1503 
(b) goNtw;fhl;by;> lr;Rf;fhuh;fs;> njhopw;rhiyia  2. 1700 

Vw;gLj;jpdh;   

(c)  ghz;br;Nrhpapy;> gpnuQ;Rf;fhuh;fs; njhopw;rhiyia 3. 1610 

   Vw;gLj;jpdh; 

 (d) my;Gnfh;f; ,e;jpahTf;F tUif Ghpe;jJ   4. 1674 

  (a) (b) (c) (d) 

 (A) 2 1 3 4 

 (B) 2 4 3 1 

 (C) 2 3 4 1 

 (D) 2 3 1 4 

Ans - (C) 2 3 4 1 

113. Which Russian traveller visited Bahmani Kingdom? 
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 (A) Ibn Batuta     (B) Marco Polo 

 (C) Athanasius Nikitin    (D) Nicolo de Conti 

Ans - (C) Athanasius Nikitin 

 ghkpdp NguuRf;F tp[ak; nra;j u\;a gazp ahh;? 

 (A) ,gd; gJ}jh    (B) khh;Nfh NghNyh 

 (C) mjdrpa]; epfpbd;    (D) epf;Nfhyh-b-fhd;b 

Ans - (C) mjdrpa]; epfpbd;  

114. Consider the following about “Gurudwara”. 

 1. Sikh Shrine is called a Gurudwara, meaning the doorway to the house of God. 

 2. The first Gurudwara was built by Guru Ram Singh. 

 3. Sikh Gurudwaras must have a religious flag called Nishan Sahib in front of the Gurudwara 

 Choose the correct code: 

(A) 1 and 3 only    (B) 1 only 

 (C) 2 and 3 only    (D) 1, 2 and 3 only 

Ans - (A) 1 and 3 only 

 “FUj;thuh” gw;wp fPo;fz;ltw;iw ftdpf;fTk; : 

1. flTspd; ,y;yj;jpw;F nry;yf;$ba ghij vd;Dk; nghUs;gLk; rPf;fpa Gdpj ];jyk; 
FUj;Jthuh MFk;. 

2. Kjy; FUj;Jthuhit FU ,uhk; rpq; fl;bdhh;. 
3. rPf;fpa FUj;Jtuhf;fs; rka nfhbahd ep\hd; rhfpg;ig FUj;Jthuhf;F Kd;Gwk; 

itf;f Ntz;Lk;. 

 rhpahd FwpaPl;il Njh;e;njLf;fTk; : 

(A) 1 kw;Wk; 3 kl;Lk;    (B) 1 kl;Lk; 

 (C) 2 kw;Wk; 3 kl;Lk;    (D) 1, 2 kw;Wk; 3 kl;Lk; 

Ans - (A) 1 kw;Wk; 3 kl;Lk;  

115. Who appointed Maharaja Ranjit Singh as the Governor of Lahore in 1799? 

 (A) Ahmed Shah Abdali    (B) Zaman Shah 

 (C) George Barlow    (D) Lord Minto 

Ans - (B) Zaman Shah 

 k`huh[h uQ;rpj; rpq;if yh$h MSeuhf 1799-y; epakpj;jth; ahh;? 

 (A) m`kJ \h mg;jhyp   (B) rhkd; \h 
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 (C) [hh;[; ghh;Nyh    (D) kpd;Nlh gpuG 

 Ans – (B) rhkd; \h 

116. Which two leaders participated in the 1
st
 Round Table Conference held at London and explained 

the condition of the Harijans? 

 1. Dr.B.R. Ambedkar 

 2. Mahatma Gandhi 

 3.Irattai Mallai Sreenivasan 

 4. M.C. Raja 

 (A) 1 and 2 only    (B) 1 and 3 only 

 (C) 2 and 4 only    (D) 1 and 4 only 

 Ans - (B) 1 and 3 only 

ve;j ,U jiyth;fs; yz;ldpy; eilngw;w Kjy; tl;lNkir khehl;by; fye;J nfhz;L> 
`hp[d;fspd; epiyia vLj;Jiuj;jdh;. 

1. Dr. gp.MH. mk;Ngj;fh; 
2. k`hj;kh fhe;jp 
3. ,ul;ilkiy rPdpthrd; 
4. vk;.rp.,uhrh 

(A) 1 kw;Wk; 2 kl;Lk;   (B) 1 kw;Wk; 3 kl;Lk; 

(C) 2 kw;Wk; 4 kl;Lk;   (D) 1 kw;Wk; 4 kl;Lk; 

Ans – (B) 1 kw;Wk; 3 kl;Lk; 

117. Choose the wrong statement : 

 I. Subhas Chandra Bose started the forward Block party. 

 II. He crossed the Indian Border on foot and reached Kabul. 

 III. He did not meet Ribbentrop, the assistant of Hitler. 

 IV.  He was invited by Japanese Premies, Tojo 

(A) All the statements are wrong.  (B) All the statements are correct 

(C) I, II and III are correct IV is wrong  (D) I, II and IV are correct III is wrong. 

Ans – (D) I, II and IV are correct III is wrong. 

 fPo;fhZk; thf;fpaj;jpy; jtwhdij $Wf. 

I. Rgh\; re;jpu Ngh]; ghh;th;l; gpshf; vd;Dk; fl;rpia Jtq;fpdhh;. 
II. eilg;gazkhf mth; ,e;jpa vy;iyia fle;J fhG+y; mile;jhh;. 
III. mth; `pl;yhpd; cjtpahsuhd ,ug;gplhg;ig re;jpf;ftpy;iy. 
IV. [g;ghdpd; gpujke;jphp NlhN[h ,tUf;F ,iog;G tpLj;jhh;. 
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(A) midj;J $w;Wk; jtW   (B) midj;J $w;Wk; rhp 

(C) I, II kw;Wk; III rhp IV jtW   (D) I, II kw;Wk; IV rhp III kl;Lk; jtW. 

Ans - (D) I, II kw;Wk; IV rhp III kl;Lk; jtW. 

118. Assertion : In 1940 at Lahore session the Pakistan resolution was passed by the Muslim League. 

 Reason : Jinnah declared that the Muslims were not in minority and need a nation. 

(A) [A] is correct [R] is wrong    

(B) [R] is correct [A] is wrong 

(C) [A] and [R] are correct and [R] explains [A] 

(D) [A] and [R] are correct but [R] does not explain [A] 

Ans – (C) [A] and [R] are correct and [R] explains [A] 

$w;W  : 1940 yh$h khehl;bd; K];yPk; yPf; ghfp];jhd; jPh;khdj;ij epiwNtw;wpaJ. 

fhuzk; : [pd;dh K];y{k;fs; rpWghd;ikapdh; ,y;iy vdTk; jdpehL Njit vdTk;  

mwptpj;jpUe;jhh;. 

(A) $w;W [A] rhp fhuzk; [R] jtW 

(B) fhuzk;[R] rhp $w;W [A] jtW 

(C) [A] $w;Wk; [R] fhuzKk; rhp> [R] fhuzk; [A] $w;iw tpsf;FfpwJ. 
(D) [A] $w;Wk; [R] fuzKk; rhp Mdhy; [R] fhuzk; [A] $w;wpw;F tpsf;fky;y 

Ans – [A] $w;Wk; [R] fhuzKk; rhp> [R] fhuzk; [A] $w;iw tpsf;FfpwJ. 

119. If a certain sum of money amounts to Rs. 16,940 in 6 years at 9%, with simple interest then find 

the principal amount 

 (A) Rs.11,500   (B) Rs.12,000  (C) Rs.11,000  (D) Rs.11,900 

Ans – (C) Rs.11,000 

xU Fwpg;gpl;l njhifahdJ 9% jdp tl;b tPjj;jpy; 6 Mz;Lfspy; &.16>940 MfpwJ 
vdpy;> mriyf; fhz;f. 

 (A) &.11,500   (B) &.12,000  (C) &.11,000  (D) &.11,900 

Ans – (C) &.11,000 

120. A can finish a work in 18 days and b can do the same work in 15 days. B worked for 10 days and 

left the job. In how many days, A alone can finish the remaining work? 

 (A) 5 days  (B) 5 ½ days  (C) 6 days  (D) 8 days 

 Ans – (C) 6 days 

A vd;gth; xU Ntiyia 18 ehl;fspYk; B vd;gth; mNj Ntiyia 15 ehl;fspYk; 
nra;th;. B me;j Ntiyia 10 ehl;fs; nra;Jtpl;L tpyFfpwhh; vdpy;> A kl;Lk; kPjKs;s 
Ntiyia vj;jid ehl;fspy; nra;J Kbg;ghh;? 

 (A) 5 ehl;fs;  (B) 5 ½ ehl;fs;  (C) 6 ehl;fs;  (D) 8 ehl;fs; 
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 Ans – (C) 6 ehl;fs; 

121. Sixty machines can produce 4850 identical mobiles in 5 hours. How many mobiles would 25 

machines produce in 6 hours? 

 (A) 3215  (B) 2425  (C) 4250  (D) 4210 

 Ans – (B) 2425 

 mWgJ ,ae;jpuq;fs; 5 kzp Neuj;jpy; 4850 nry;yplg;Ngrpfis cw;gj;jp nra;fpd;wd 
vdpy;> 25 ,ae;jpuq;fs; 6 kzp Neuj;jpy; vj;jid nry;yplg; Ngrpfis cUthf;Fk;? 

(A) 3215  (B) 2425  (C) 4250  (D) 4210 

 Ans – (B) 2425 

122.  

123. B is twice as old as A, but half the age of F. C is half the age of A but twice the age of D. Which 

two persons form the pair of youngest and oldest? 

 (A) F and A  (B) D and F  (C) B and F  (D) F and C 

Ans – (B) D and F 

 B-d; taJ A-d; taJNghy; ,Uklq;F Mdhy; F-d; tajpy; ghjp. C-d; taJ A-d; taJ 
A-d; tajpy; ghjp Mdhy; D-d; tajpy; ,Uklq;F. ,jpy; ,isath; kw;Wk; Kjpath; 
,iz vJ? 

 (A) F kw;Wk; A  (B) D kw;Wk; F  (C) B kw;Wk; F  (D) F kw;Wk; C 

Ans – (B) D kw;Wk; F 

124. If 6% savings of the salary of a person is Rs.3,000. Find his actual salary 

 (A) Rs.40, 000     (B) Rs.50,000 

 (C) Rs. 45,000     (D) Rs. 43,000 

 Ans - (B) Rs.50,000 

 xUth;> jdJ tUkhdj;jpypUe;J 6 rjtPjkhd &.3>000-I Nrkpg;G nra;fpwhh; vdpy; mtuJ 
tUkhdk; vt;tsT? 

 (A) &.40, 000     (B) &.50,000 

 (C) &. 45,000     (D) &. 43,000 

 Ans - (B) &.50,000 

125. 

126. Find the total volume of 14 cubes whose edges are 12 cm, 13, ------, 25 cm respectively 

 (A) 621019 cm
3
  (B) 269101 cm

2
  (C) 962101 cm

2
  (D) 101269 cm

2
 

 Ans – (D) 101269 cm
2  
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12 nr.kP> 13 nr.kP> ---> 25 nr.kP Mfpaw;iw KiwNa gf;f msTfshff; nfhz;l 14 fdr; 
rJuq;fspd; nkhj;j fd msitf; fhz;f. 

 (A) 621019 nr.kP3 (B) 269101 nr.kP 2 (C) 962101 nr.kP 2 (D) 101269 nr.kP 2 

 Ans – (D) 101269 nr.kP 2  
 

127. The radii of two cylinders are in the ratio 3:5 and their heights are in the ratio 2:3. Find the ratio 

of their curved surface areas. 

 (A) 2:5  (B) 3:5  (C) 2 : 3 (D) 1:1 

Ans - (A) 2:5  

,U cUisfspd; Muq;fspd; tpfpjk; 3:5 kw;Wk; mitfspd; cauq;fspd; tpfpjk; 2:3 
vdpy;> mtw;wpd; tisT gug;gsTfspd; tpfpjj;jpidf; fhz;f. 

(A) 2:5  (B) 3:5  (C) 2 : 3 (D) 1:1 

Ans - (A) 2:5  

128. The cost of carpeting a room of 18 m long with a carpet of 75 cm wide at Rs. 4.50 per meter is 

Rs. 810. The breadth of the room is 

 (A) 7 m   (B) 7.5 m  (C) 8 m   (D) 8.5 m 

Ans – (B) 7.5 m  

18 kPl;lh; ePsKs;s Xh; miwf;F 75 nr.kP mfyKs;s fk;gsk; tphpf;f> xU kPl;lUf;F 
&.4.50 tPjk; & 810 nrythfpwJ. Me;j miwapd; mfyk; vd;d? 

 (A) 7 kPl;lh;  (B) 7.5 kPl;lh;  (C) 8 kPl;lh;  (D) 8.5 kPl;lh; 

Ans – (B) 7.5 kPl;lh; 

129.  

130. A sum on compound interest becomes three times in 4 years. How many years will it take to 

become 27 times the original if the interest is calculated at the same rate. 

 (A) 8 years  (B) 12 years  (C) 24 years  (D) 36 years 

Ans - (B) 12 years 

xU njhifahdJ $l;Ltl;b %yk; ehd;F tUlq;fspy; 3 klq;fhfpwJ. ,Nj tl;b tPjk; 
%yk; me;j njhifahdJ vj;jid tUlq;fSf;Fg; gpwF 27 klq;fhFk. 

 (A) 8 tUlq;fs; (B) 12 tUlq;fs; (C) 24 tUlq;fs; (D) 36 tUlq;fs; 

Ans - (B) 12 tUlq;fs; 

131. Assertion [A] : Ghaggar is the river of inland drainage. 

 Reasonning [R] : It gets lost in the sandy area of Rajasthan. 

(A) Both [A] and [R] are correct and [R] is the correct explanation of [A] 

(B) Both [A] and [R] are correct and [R] is not the correct explanation of [A] 
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(C) [A] is correct but [R] is false 

(D) [A] is false but [R] is correct 

Ans – (A) Both [A] and [R] are correct and [R] is the correct explanation of [A] 

$w;W [A] : fhfh; ejp cs;ehl;L tbfhyikg;ig nfhz;lJ. 

fhuzk; [R] : ,e;ejp ,uh[];jhd; khepyj;jpd; kzw;gug;gpy; ePiu ,oe;J tpLfpd;wJ. 

(A) [A] kw;Wk; [R] ,uz;Lk; rhp NkYk; [R] vd;gJ [A]-apd; tpsf;fkhFk;. 
(B) [A] kw;Wk; [R] ,uz;Lk; rhp NkYk; [R] vd;gJ [A]-ap;d; rhpahd tpsf;fky;y. 
(C) [A] rhp Mdhy; [R] jtW 

(D) [A] jtW Mdhy; [R] rhp 

Ans – (A) [A] kw;Wk; [R] ,uz;Lk; rhp NkYk; [R] vd;gJ [A]-apd; tpsf;fkhFk;. 

132. Match the following : 

 Trenches    Locations 

(a) Mariana     1. South Atlantic Ocean 

(b) Romanche     2. South Pacific Ocean 

(c) Sunda     3. North Pacific Ocean 

(d) Atakama     4. East Indian Ocean 

 (a) (b) (c) (d) 

(A) 3 1 2 4 

(B) 3 1 4 2 

(C)  4 2 1 3 

(D) 2 1 3 4 

Ans - (B) 3 1 4 2 

fPo;fz;ltw;iw nghUj;Jf : 

  fly; Mopfs;   miktplq;fs; 

(a) khpahdh    1. njd; ml;yhz;bf; fly; 
(b) nuhkhd;rp    2. njd; gRgpf; fly; 
(c) Re;jh    3. tl gRgpf; fly; 
(d) Mlfhkh    4. fpof;F ,e;jpa fly; 

(a) (b) (c) (d) 

(A) 3 1 2 4 

(B) 3 1 4 2 

(C)  4 2 1 3 

(D) 2 1 3 4 
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Ans - (B) 3 1 4 2 

133. Who decides the nature of the bill in the Lok Sabha? 

 (A) The Prime Minister    (B) The Speaker 

 (C) The Leader of Opposition Party  (D) The Home Minister 

Ans - (B) The Speaker 

kf;fsitapy;> kNrhjhtpd; jd;ikia KbT nra;gth; ahh;? 

(A) gpujk ke;jphp   (B) rghehafh; 

(C) vjph;fl;rpj; jiyth;   (D) cs;Jiw mikr;rh; 

Ans – (B) rghehafh; 

134. SAKSHAT was launched in Oct, 2006 

 (A) To facilitate life long learning of student, teachers and those in employment 

 (B) To facilitate the requirement is the agricultural sector 

 (C) To facilitate marine requirement 

 (D) It is a satellite for telecommunication 

 Ans - (A) To facilitate life long learning of student, teachers and those in employment 

 Oct, 2006-Mk; Mz;by; nray;gLj;jg;gl;l SAKSHAT vd;gj vjNdhL njhlh;GilaJ. 

(A) Mrphpah;> khzth; kw;Wk; fy;tpahsh;fspd; tho;ehs; fw;wy; njhlw;fw;wiy Nkk;gLj;j  
(B) Ntshz; Jiwapy; Njitfis fz;lwpe;J Nkk;gLj;j 

(C) fly;tho; caphpd Njitfis fz;lwpe;J Nkk;gLj;j 

(D) njhiynjhlh;gpw;F Njitg;gLk; nraw;if Nfhs;. 

Ans – (A) Mrphpah;> khzth; kw;Wk; fy;tpahsh;fspd; tho;ehs; fw;wy; njhlw;fw;wiy 
Nkk;gLj;j  

135. Which of the following articles of the Indian constitution deals with the ‘abolition of 

untouchability’? 

 (A) Article 14  (B) Article 15  (C) Article 16  (D) Article 17 

 Ans - (D) Article 17 

 fPo;f;fz;ltw;wpy; ve;j ,e;jpa murpayikg;G tpjp ‘jPz;lhik xopg;G’ gw;wp $WfpwJ. 

 (A) tpjp 14  (B) tpjp 15  (C) tpjp 16  (D) tpjp 17 

Ans – (D) tpjp 17 

136. The main recommendation of “The Tarkunde Committee” on electoral reforms in 1975 is about 

 (A) Election commission should be made as a 3 member body 
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(B) Appointment of election commission members by PM in consultation with chief justice of 

India 

(C) Appointment of election commission by president and prime minister 

(D) Appiontment of EC by prime minister, leader of opposition party in Lok Sabha and the chief 

justice of India 

Ans - (D) Appiontment of EC by prime minister, leader of opposition party in Lok Sabha and the 

chief justice of India. 

1975-Mk; Mz;L Njh;jy; rPh;jpUj;jk; njhlh;ghd jhh;Fz;Nl FOtpd; Kf;fpa ghpe;Jiu 

(A) Njh;jy; Mizak; %d;W egh; nfhz;l FOthf khw;wg;gl Ntz;Lk; 
(B) Njh;jy; Miza cWg;gpdh;fs; epakdk; gpujk mikr;ruhy; jiyik ePjpgjpapd; 

MNyhridapd; mbg;gilapy; eilngw Ntz;Lk; 
(C) Njh;jy; Miza cWg;gpdh; epakdk; FbauRjiyth; kw;Wk; gpujk ke;jphpahy; 

Nkw;nfhs;sg;gl Ntz;Lk; 
(D) Njh;jy; Miza cWg;gpdh; epakdk; gpujk mikr;rh;> kf;fsit vjph;fl;rp jiyth; 

kw;Wk; ,e;jpa jiyik ePjpgjp MfpNahuhy; Nkw;nfhs;sg;gl Ntz;Lk; 

Ans – (D) Njh;jy; Miza cWg;gpdh; epakdk; gpujk mikr;rh;> kf;fsit vjph;fl;rp 
jiyth; kw;Wk; ,e;jpa jiyik ePjpgjp MfpNahuhy; Nkw;nfhs;sg;gl Ntz;Lk; 

137. Which of the following committee recommended the setting up of Central Vigilance Committee ? 

(A) Rajmannar Committee 

(B) Sarkaria Committee 

(C) Kothari Committee 

(D) Santhanam Committee  

Ans - (D) Santhanam Committee  

fPo;f;fz;ltw;Ws; ve;jf; FO kj;jpa yQ;r xopg;G FOit cUthf;f ghpe;Jiu nra;jJ? 

(A) uh[kd;dhh; FO     (B) rh;f;fhhpah FO 

(C) Nfhjhhp FO     (D) re;jhdk; FO  

Ans – (D) re;jhdk; FO 

138. The word ‘integrity’ was added in the preamble of the constitution of India in the year  

(A) 1956 (B) 1961 (C) 1976 (D) 1981 

Ans - (C) 1976 

,e;jpa murpayikg;gpd; KfTiuapy; “xUikg;ghL” vd;w thh;j;ij Nrh;f;fg;gl;l Mz;L 

(A) 1956 (B) 1961 (C) 1976 (D) 1981 

Ans - (C) 1976 

139. From which country we have borrowed the concurrent list ? 
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(A) Canada  (B) Australia  (C) America  (D) England 

Ans - (B) Australia 

ve;j ehl;bypUe;J ehk; nghJg;gl;baiy ngw;Nwhk;? 

(A) fdlh  (B) M];jpNuypah  (C) mnkhpf;fh  (D) ,q;fpyhe;J 

Ans – (B) M];jpNuypah 

140. Which country has won the Asian Nations cup chess Tournament – 2016 held at Abu Dhabi ? 

(A) Pakistan  (B) Malaysia  (C) India  (D) Sri Lanka 

Ans - (C) India 

mGjhgpapy; eilngw;w Mrpa ehLfSf;fhd rJuq;fg; Nghl;b (2016)-y; ntd;w ehL vJ? 

(A) ghfp];jhd;  (B) kNyrpah  (C) ,e;jpah  (D) ,yq;if 

Ans – (C) ,e;jpah  

141. The Prime Minister of India has launched the Integrated power development scheme in which 

city, to provide 24 x 7 power supply to every house ? 

(A) Gandhi Nagar  (B) Varanasi  

(C) Cochin   (D) New Delhi 

Ans - (B) Varanasi 

xt;nthU tPl;bw;Fk; 24 x 7 kpd;rhuk; jUk; xUq;fpize;j kpd;tsh;r;rp jpl;lj;ij ghuj  

gpujkh; ve;j efuj;jpy; Jtf;fpdhh;? 

(A) fhe;jp efh;     (B) thudhrp 

(C) nfhr;rpd;     (D) GJnly;yp 

Ans – (B) thudhrp 

142. Which State introduced “Akshaya e-learning” system ? 

(A) Maharastra  (B) Punjab  (C) Orissa  (D) Kerala 

Ans - (D) Kerala 

“mf;\ah” vd;w ,-fw;wy; Kiwia mwpKfk; nra;j khepyk; vJ? 

(A) kfhuh\;l;uh (B) gQ;rhg;  (C) xhp]h  (D) Nfush 

Ans – (D) Nfush 

143. Tianhe – 2 is a 

(A) Satellite   (B) Super Computer 

(C) Telescope   (D) Missile 
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Ans - (B) Super Computer 

jpahd;fp – 2 vd;gJ 

(A) nraw;ifNfhs;     (B) mjp rf;jptha;e;j fzpdp 

(C) njhiy Nehf;fp     (D) VTfiz 

Ans – (B) mjp rf;jptha;e;j fzpdp 

144. The Satellite Kosmos 2510 was designed and launched by 

(A) USA  (B) France  (C) Russia  (D) Japan 

Ans - (C) Russia 

Nfh];kh]; 2510 vd;w nraw;iff;Nfhis tbtikj;J tpz;zpy; Vtpa ehL 

(A) mnkhpf;fh  (B) gpuhd;];  (C) u\;ah  (D) [g;ghd; 

Ans – (C) u\;ah 

145. The project by google in India to provide internet access to rural and remote is named as project 

google 

(A) Glass  (B) Fiber  (C) Plex  (D) Loon 

Ans - (D) Loon 

$Fy; epWtdj;jhy;> ,e;jpahtpy; fpuhkg;Gw kw;Wk; njhiyT gFjpfSf;F ,izajs 
Nritapid toq;f mikf;fgl;Ls;s nray;jpl;lj;jpd; ngah; nray;jpl;l $Fy; 

(A) fpsh];  (B) /iggh;  (C) gpsf;];  (D) Y}d; 

Ans – (D) Y}d; 

146. By which year the Digital India Programme is going to be implemented by the Department of 

Electronics and Information Technology to transform our country ? 

(A) 2023  (B) 2020  (C) 2018  (D) 2017 

Ans - (C) 2018 

ekJ ehl;il khw;wpaikf;Fk; kpd;dZtpay; kw;Wk; jfty; njhopy; El;gtpayJiw  

fzpdp ,e;jpahtpy; ve;j Mz;bw;Fs; nray;gLj;jgl cs;sJ? 

(A) 2023  (B) 2020  (C) 2018  (D) 2017 

Ans - (C) 2018 

147. The Sugamya Bharat Abhiyan does not aim 

(A) to built accessible government buildings for person with disabilities 

(B) to enhance accessibility and usability of public transport information and communication 

(C) to increase the accessibility of physical environment in the country 
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(D) to impose fine on buildings inaccesseible to persons with diabilities 

Ans - (D) to impose fine on buildings inaccesseible to persons with diabilities 

Rfk;ah ghuj; mgpahd; vd;gjd; Nehf;fkhf mikahjJ> vJ? 

(A) khw;Wj; jpwdhspfs; mZfj;jf;f tifapyhd muR fl;llq;fis fl;Ljy; 
(B) nghJ Nghf;Ftuj;J. jfty; kw;Wk; njhlh;G Mfpatw;wpd; mZFKiw kw;Wk; 

gad;ghL jd;ikia Nkk;gLj;Jjy; 
(C) ehl;bd; ,aw;gpa Rw;Wf;Roypd; mZFKiwia $Ljyhf;Fjy; 
(D) khw;Wj; jpwdhspfspd; mZFjYf;F xt;thj fl;blq;fSf;F mguhjk; tpjpj;jy; 

Ans – (D) khw;Wj; jpwdhspfspd; mZFjYf;F xt;thj fl;blq;fSf;F mguhjk; tpjpj;jy; 

148. The world’s lightest material called ‘Silica aerogel’ o ‘Blue air’ is manufactured at  

(A) Vikram Sarabhai Space Central (VSSC) Thiruvananthapuram 

(B) ISRO, Bangalore 

(C) NRSC, Hyderbad 

(D) SAC, Ahmedabad 

Ans - (A) Vikram Sarabhai Space Central (VSSC) Thiruvananthapuram 

cyfpd; kpf ‘,yFthd nghUs;’ ‘rpypf;fh VNuhn[y;’ my;yJ ‘Cjh fhw;W’ vq;F 
cw;gj;jp nra;ag;gLfpwJ? 

(A) tpf;uk; rhuhgha; tpz;ntsp ikak; (tp.v];.v];.rp) jpUtde;jGuk; 
(B) I.v].Mh;.X> ngq;fSU 

(C) vd;.Mh;.v];.rp> Ijuhghj; 
(D) v];.V.rp. mfkjhghj; 

Ans – (A) tpf;uk; rhuhgha; tpz;ntsp ikak; (tp.v];.v];.rp) jpUtde;jGuk; 

149.  Which states has “Cyber Park”? 

(A) Andhra Pradesh  

(B) Kerala 

(C) Rajasthan 

(D) Madhya Pradesh 

Ans - (B) Kerala 

“irgh; ghh;f;” ve;j khepyj;jpy; cs;sJ? 

(A) Me;jpu gpuNjrk;     (B) Nfush 

(C) uh[];jhd;      (D) kj;jpa gpuNjrk; 

Ans – (B) Nfush 

150.  Absolute zero of temperature means 
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(A) 0
o 
C  (B) 0

o 
F   (C) -273

o 
C  (D)  -273

o 
F 

Ans - (C) -273
o 
C 

G+uz Rop ntg;gk; vd;gJ 

(A) 0
o nrd;bfpNuL     (B) 0

o /ghud; P̀l; 

(C) -273
o nrd;bfpNuL     (D)  -273

o  /ghud; P̀l; 

Ans - (C) -273
o nrd;bfpNuL 

151.  When light enters from one medium to another then which characteristic is not changed ? 

(A) coulur of light   (B) velocity of light 

(C) wavelength of light   (D) frequency of light waves 

Ans - (D) frequency of light waves 

xU xspfw;iahdJ xU Clfj;jpy; ,Ue;J kw;nwhU Clfj;jpw;f;F khwk; nghOJ 

fPo;fz;ltw;Ws; ve;j gz;G khwhjJ. 

(A) Xspfw;iwapd; epwk;   (B) xspfw;iwapd; jpirNtfk; 

(C) xspfw;iwapd; miyePsk;   (D) xspfw;iwapd; mjph;ntz; 

Ans – (D) xspfw;iwapd; mjph;ntz; 

152. Which law is called as the law of periods ? 

(A) Kepler’s First Law 

(B) Kepler’s Second Law 

(C) Kepler’s Third Law 

(D) Newton’s Law of Gravitation 

Ans - (C) Kepler’s Third Law 

fhyq;fspd; tpjp vd miof;fg;gLk; tpjp 

(A) nfg;yhpd; Kjyhk; tpjp    (B) nfg;yhpd; ,uz;lhk;; tpjp 

(C) nfg;yhpd; %d;whk; tpjp    (D) epA+l;ldpd; <h;g;G tpjp 

Ans – (C) nfg;yhpd; %d;whk; tpjp 

153. Find out the incorrect statement(s) : 

I. All lanthanides are non-radioactive 

II. Some actinides form MO2 
+
, MO2 

2+
oxocations 

III. The compounds of lanthanides are more basic than that of actinide compounds 

IV. 5f elements show variable oxidation states like +2, +3, +4, +5, +6 and +7 
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(A) I and II  (B) II and IV  (C) III only  (D) IV only 

Ans - (A) I and II 

jtwhd nrhw;nwhlh;(fis) fhz;f : 

I. vy;yh Nye;jidLfSk; fjphpaf;fj; jd;ikaw;wit. 
II. rpy Mf;bidLfs; MO2 

+
, MO2 

2+ tif Mf;Nrh Neh; madpfis cUthfpd;wd. 
III. Mf;bidL Nrh;kq;fisf; fhl;bYk; Nye;jidL Nrh;kq;fs; mjpa fhuj; 

jd;ikAilad. 
IV. 5f thpirj; jdpkq;fs; khWgl;l Mq;]p[Ndw;w epiyfshd +2, +3, +4, +5, +6 

kw;Wk; +7 

(A) I kw;Wk; II  (B) II kw;Wk; IV  (C) III kl;Lk;  (D) IV kl;Lk; 

Ans - (A) I kw;Wk;  II 

154.  

155. Moss cotton is  

 (A) Azolla     (B) Funaria 

 (C) Nitalla     (D) Sphagnum 

 Ans - (D) Sphagnum 

 kh]; gQ;R vd;gJ 

 (A) mNrhyh     (B) /GNdhpah 

 (C) iel;nly;yh    (D) ];ghf;dk; 

Ans – (D) ];ghf;dk; 

156. H.I.V has ____________ as genetic material. 

 (A) DNA    (B) Single stranded DNA 

 (C) Double stranded RNA  (D) Single stranded RNA 

 Ans - (C) Double stranded RNA 

 vr;. I.tp. itu]py; fhzg;gLk; kuGg; nghUs; ----------- MFk;. 

 (A) b.vd;.V     (B) Xhpil b.vd;.V 

 (C) <hpio Mh;.vd;.V    (D) Xhpio Mh;.vd;.V 

 Ans – (C) <hpio Mh;.vd;.V 

157. The sequence of one systole followed by one diastole of the heart chambers is termed as 

 (A) Summation  (B) Cardiac cycle (C) Refractory period (D) Cardiac output 

 Ans - (B) Cardiac cycle 
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,ja miwfspd; RUq;Fk; (rp];Nlhy;) kw;Wk; tphptiljy; (ila];Nlhy;) ,t;thW 
miof;fg;gLfpwJ. 

(A) nkhj;jf; $Ljy;   (B) fhh;bahf; Row;rp 

(C) Vw;G ,ayhf; fhy msT  (D) ,jaj;jpypUe;J ntspgLk; FUjpapd; msT 

Ans – (B) fhh;bahf; Row;rp 

158. Which of the following is considered as ‘hot spot biodiversity’ in India? 

 (A) Aravalli Hills (B) Western Ghats (C) Indo-Gangetic (D) Eastern Ghats 

 Ans - (B) Western Ghats 

 gpd;tUtdtw;Ws; vit “,e;jpahtpd; caphpa kpifg; gy;tifik” ,lkhFk;? 

 (A) Muty;yp kiy    (B) Nkw;F njhlh;r;rp kiy 

 (C) ,d;Nlh-fhd;n[l;bf; rkntsp  (D) fpof;F njhlh;r;rp kiy  

Ans – (B) Nkw;F njhlh;r;rp kiy 

159. The tobacco industry is one of the oldest industries of India; belongs to 

 (A) Agro based and labour intensive 

 (B) Agro based and capital intensive 

 (C) Technology based and capital intensive 

(D) (B) and (C) are correct 

 Ans - (A) Agro based and labour intensive 

 ,e;jpahtpy; goikahd njhopy;fspy; xd;whf fUjg;gLk; Gifapiy njhopyhdJ. 

 (A) tptrhak; kw;Wk; ciog;G rhh;e;jJ (B) tptrhak; kw;Wk; %yjdk; rhh;e;jJ. 

 (C) njhopy;El;gk; kw;Wk; %yjdk; rhh;e;jJ (D) (B) kw;Wk; (C) rhpahdit 

 Ans - (A) tptrhak; kw;Wk; ciog;G rhh;e;jJ 

159. Mark the following with their  established year and choose the correct option : 

(a) Chittarangan locomotion works  1. 1986 

(b) Rail coach factory   2. 1984 

 (c) Intergral coach factory   3. 1947 

(d) Rail wheel factory   4. 1952 

 (a) (b) (c) (d) 

(A) 2 3 1 4 

(B) 3 1 4 2 
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(C) 3 4 1 2 

(D) 2 1 4 3 

Ans - (B) 3 1 4 2 

fPo;tUk; epWtdq;fs; mJ epWtg;gl;l Mz;Lld; nghUj;jp rhpahd tpiliaj; Njh;e;njL  

(a) rpj;juQ;rd; uapy;ngl;b njhopw;rhiy   1. 1986 

(b) uapy; ngl;b njhopw;rhiy     2. 1984 

(c) xUq;fpize;j ngl;b njhopw;rhiy   3. 1947 

(d) uapy; rf;fu njhopw;rhiy     4. 1952 

 (a) (b) (c) (d) 

(A) 2 3 1 4 

(B) 3 1 4 2 

(C) 3 4 1 2 

(D) 2 1 4 3 

Ans - (B) 3 1 4 2 

161. C + I + G + (X - M) – formula is used to calculate 

 (A) GDP – Gross Domestic Product 

 (B) NNP – Net National Product 

 (C) PI – Personal Income 

 (D) GNP – Gross National Product 

 Ans - (D) GNP – Gross National Product 

 C + I + G + (X - M) – vd;w #j;jpuj;jpypUe;J ,jid fz;fplyhk; 

 (A) GDP – nkhj;j cs;ehl;L cw;gj;jp 

 (B) NNP – epfu Njrpa cw;gj;jp 

 (C) PI – jdpegh; tUtha; 

 (D) GNP – nkhj;j Njrpa cw;gj;jp 

 Ans - (D) GNP – nkhj;j Njrpa cw;gj;jp 

162. The approach followed by PURA model is 

 (A) Neo Gandhian approach 

 (B) Neo Nehruvian approach 

 (C) Gandhian – Nehru Compromise approach 
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 (D) Socialistic approach 

 Ans - (A) Neo Gandhian approach 

 PURA khjphpapy; gpd;gw;wg;gLk; mZFKiw 

 (A) Gjpa fhe;jp mZFKiw   (B) Gjpa NeU mZFKiw 

 (C) fhe;jp NeU rkur mZFKiw  (D) rkjh;k mZFKiw 

 Ans – (A) Gjpa fhe;jp mZFKiw  

163. Consider the following pairs regarding Chalukas of Kalayani : 

 I. Kasivisvesvara Temple - Lakkundi 

 II. Mahadeva Temple  - Nolambavadi 

 III. Sarasvati Temple  - Gadge 

 Which of the pair given above is/are correct? 

(A) I only     (B) II only 

(C) I and III only    (D) II and III only 

Ans – (C) I and III only 

gpd;tUk; ,izfis fUj;jpy; nfhs;f (fy;ahzp rhSf;fpah;fs;) : 

I. fhrptp\;Nt\;tuh Nfhapy;  - yf;Fd;b 

II. kfhNjth; Nfhapy;   - nehsk;gthb 

III.  ru];tjp Nfhapy;   - flf; 

Nkw;Fwpg;gpl;l ,izfspy; vJ (m) vit rhp ? 

(B) I kl;Lk;     (B) II kl;Lk; 

(C) I kw;Wk; III kl;Lk;    (D) II kw;Wk; III kl;Lk; 

Ans – (C) I kw;Wk; III kl;Lk; 

164. Choose the correct answer from the codes given below ; 

 Which dynasty/dynasties introduced the construction of Gopuras in South Indian Temples ? 

(a) The Pallavs 

(b) The Cholas 

(c) The Pandyas  

(d) The Vijayanagar rulers 

(A) (a) only    (B) (b) and (c) only 

(C) (a) and (c) only   (D) (c) and (d) only 

 Ans - (D) (c) and (d) only 
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 nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J rhpahd tpiliaj; Njh;e;njL : 

ve;j tk;rhtsp /tk;rhtspapdh; njd;dpe;jpa Nfhtpy;fspy; NfhGuq;fis 
mwpKfg;gLj;jpdhh;fs; ? 

(a) gy;yth;fs; 
(b) Nrhoh;fs; 
(c) ghz;bah;fs 

(d) tp[aefu murh;fs; 

(A) (a) kl;Lk;     (B) (b) kw;Wk; (c) kl;Lk; 

(C) (a) kw;Wk; (c) kl;Lk;   (D) (c) kw;Wk; (d) kl;Lk; 

Ans – (D) (c) kw;Wk; (d) kl;Lk; 

165. Match List I with List II who helped to setup the steel plants : 

  List I      List II 

 (a) Rourkela   1. British 

 (b) Bhilai   2. German 

 (c) Durgapur   3. Russia 

  (a) (b) (c) 

 (A) 2 3 1 

 (B) 3 2 1 

 (C) 1 2 3 

 (D)  3 1 2 

 Ans - (A) 2 3 1 

gl;bay; I-y; cs;stw;iw gl;bay; II nfhLf;fg;gl;Ls;s ,Uk;G v/F njhopw;rhiyia 
Vw;gLj;j cjtpa ehl;Lld; nghUj;Jf : 

 gl;bay; I   gl;bay; II 

(a) &h;Nfyh    1. gphpl;ld; 

(b) gpyha;    2. n[h;kd; 

(c) Jh;fhG+h;    3. ,u\;ah 

  (a) (b) (c) 

 (A) 2 3 1 

 (B) 3 2 1 

 (C) 1 2 3 

 (D)  3 1 2 
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 Ans - (A) 2 3 1 

166. Consider the following statement and choose the correct answer from the codes given below : 

 [A] Assertion : Jawaharlal Nehru was the Chief Architect of India’s foreighn policy. 

[R] Reason : After Independence India wanted to maintain friendly relationship with America. 

Vijayalakshmi  Pandit was appointed as American Ambassador in 1949. 

(A) Both [A] and [R] are correct [R] is the correct explanation of [A] 

(B) Both [A] and [R] are incorrect 

(C) [A] alone is correct [R] is incorrect 

(D) Both [A] and [R] are correct and [R] is not the correct explanation of [A] 

Ans - (A) Both [A] and [R] are correct [R] is the correct explanation of [A] 

fPNo nfhLf;fg;gl;Ls;s thf;fpaq;fspd; mbg;gilapy; nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J  

rhpahd tpilia Njh;T nra;f : 

[A] $w;W : [t`hh;yhy; NeU ,e;jpa ntspehl;L nfhs;ifapd; jiyik rpw;gp. 

[R] fhuzk; : ,e;jpah Rje;jpuk; mile;j gpd;dh; mnkhpf;f ehl;Lld; el;Gwit tsh;j;J 
nfhs;s tpioe;jJ. 1949 Mk; Mz;L tp[ay$;kp gz;bl; mth;fis 
mnkhpf;f J}juhf epakpj;jJ. 

(A) [A] kw;Wk; [R] ,uz;Lk; rhp> [R], [A]-tpw;fhd rhpahd tpsf;fj;ij nfhLf;fpwJ. 

(B) [A] kw;Wk; [R] ,uz;Lk; rhpay;y 

(C) [A] kl;Lk; rhp> [R] rhpay;y 

(D) [A] kw;Wk; [R] ,uz;Lk; rhp> Mdhy; [R]> [A]-tpw;fhd rhpahd tpsf;fj;ij  

mspf;ftpy;iy 

Ans - (A) [A] kw;Wk; [R] ,uz;Lk; rhp> [R], [A]-tpw;fhd rhpahd tpsf;fj;ij nfhLf;fpwJ. 

167. Which of the statements given below is/are correct ? 

 1. Congress forms the interim Government with Nehru as the vice – president. 

 2. Muslims league decides to join the Interim Government on October 13
th
 1946. 

 3. Constituent Assembly meets without Muslim league members on 9
th
 December 1946. 

 4. Indian Independence Bill received Royal Assent on 18
th
 July, 1947. 

 (A) 1 and 3 only   (B) 3 only 

 (C) 1, 2 and 4 only   (D) 1, 2, 3 and 4 

 Ans - (C) 1, 2 and 4 only 

 fPNo nfhLf;fg;gl;Ls;s thf;fpaq;fspy; vJ/vit rhpahdit? 
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1. NeUit Jiz jiytuhff; nfhz;L fhq;fpu]; ,ilf;fhy murhq;fk; mikj;jJ. 
2. 1946 mf;Nlhgh;> 13-y; ,ilf;fhy murhq;fj;jpy; Nru K];yPk; yPf; jPh;khdpj;jJ. 
3. 1946 brk;gh; 9-y; K];yPk; yPf; cWg;gpdh;fspd;wp murpay; eph;zarig $l;lk; $baJ. 
4. 1947 [_iy 18-y; ,e;jpa Rje;jpu kNrhjh> murhpd; xg;Gjiyg; ngw;wJ. 

(A) 1 kw;Wk; 3 kl;Lk;    (B) 3 kl;Lk; 

 (C) 1, 2 kw;Wk; 4 only   (D) 1, 2, 3 kw;Wk; 4 

 Ans - (C) 1, 2 kw;Wk; 4 kl;Lk; 

168. Find out the wrong statements  

 1. The newspaper “Kesari” was published in English 

 2. “The Mahratta” was issued in Marathi 

 3. The book “Orion” was written by Tilak 

 4. Tilak taught in the Fergusson college of Deccan 

 (A) 1 and 2 only   (B) 2 and 3 only 

 (C) 3 only    (D) 4 only 

 Ans - (A) 1 and 2 only 

 jtwhd thf;fpaq;fisf; fz;lwpf. 

1. “Nfrhp” gj;jphpf;if Mq;fpy nkhopapy; ntspaplg;gl;lJ. 
2. “kuhj;jh’ gj;jphpf;if kuhj;jp nkhopapy; ntspaplg;gl;lJ. 
3. “Xhpad;” vd;w E}iy vOjpath; jpyfh; 
4. jpyfh; jf;fhzj;jpYs;s ngh;$]hd; fy;Y}happy; gapw;Wtpj;jhh; 

(A) 1 kw;Wk; 2 kl;Lk;   (B) 2 kw;Wk; 3 kl;Lk; 

 (C) 3 kl;Lk;    (D) 4 kl;Lk; 

 Ans - (A) 1 kw;Wk; 2 kl;Lk; 

169. Rao, Kaul, Bansal and Agarwal enter into a partnership, Rao, Kaul, Bansal subscribe 1/3
rd

, 1/4
th
, 

1/5
th
 of the investment respectively and Agarwal the rest. If the profit of ₹ 9,84,000 is divided 

according to their investment, what is Agarwal’s share of profit ? 

 (A) ₹ 1,64,000  (B) ₹ 2,13,200  (C) ₹ 3,28,000  (D) ₹ 1,96,800 

 Ans - (B) ₹ 2,13,200 

uht;> fTy;> gd;rhy; kw;Wk; mfh;thy; MfpNahh; $l;lhf tpahghuk; nra;fpd;wdh;. nkhj;j 
KjyPl;by; uht;> fTy;> gd;rhy; MfpNahh; KiwNa 1/3 gq;F> ¼ gq;F> 1/5 gq;Fk; kPjpia 
mfh;thy; mth;fSk; KjyPL nra;fpd;wdh;. yhgj;njhif 9>84>000 MdJ KjyPl;Lf;Fj; 
jFe;jhw;Nghy; gq;fPL nra;ag;gl;lhy; mfh;thy; mile;j yhgj; njhif vt;tsT? 

(A) ₹ 1,64,000  (B) ₹ 2,13,200  (C) ₹ 3,28,000  (D) ₹ 1,96,800 

 Ans - (B) ₹ 2,13,200 
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170. If a : b :: c : d is a proportion then, which one of the following is true ? 

 (A) a : b :: d : c    (B) (a + b) : b :: (c + d) : c 

 (C) (a – b) : b :: (c – d) : d  (D) b : a :: c : d 

 Ans – (C) (a – b) : b :: (c – d) : d  

a : b :: c : d vd;gJ xU tpfpj rkj;ij cUthf;FfpwJ vdpy; gpd;tUtdtw;Ws; vJ 
nka;ahdJ? 

 (A) a : b :: d : c    (B) (a + b) : b :: (c + d) : c 

 (C) (a – b) : b :: (c – d) : d  (D) b : a :: c : d 

 Ans – (C) (a – b) : b :: (c – d) : d  

171. The H.C.F. of two numbers is 8. Which one of the following can never be their LCM ? 

 (A) 24  (B) 48  (C) 56  (D) 60 

 Ans - (D) 60 

,uz;L vz;fspd; kP.ngh.t. MdJ 8 gpd;tUtdtw;Ws; ve;j vz; ,itfspd; kP.ngh.k. 
Mf ,Uf;f KbahJ? 

 (A) 24  (B) 48  (C) 56  (D) 60 

 Ans - (D) 60 

172. H.CF. of 9/10, 12/25, 18/35 and 21/40 is 

 (A) 3/5   (B) 252/5  (C) 3/1400  (D) 63/700 

 Ans - (C) 3/1400 

9/10, 12/25, 18/35 kw;Wk; 21/40 d; (H.C.F) kPg;ngU nghJf; fhuzp 

(A) 3/5   (B) 252/5  (C) 3/1400  (D) 63/700 

 Ans - (C) 3/1400 

173. Find the values of (1-1/3)(1-1/4)(1-1/5)………..(1-1/100) 

 (A) 1/100  (B) 1/25  (C) 1/50  (D) 100 

 Ans - (C) 1/50 

(1-1/3) (1-1/4) (1-1/5)………..(1-1/100) d; kjpg;igf; fhz;. 

 (A) 1/100  (B) 1/25  (C) 1/50  (D) 100 

 Ans - (C) 1/50 

174. If the numerator of a fraction is increased by 15% and its diminished by 8%, then the value of the 

new fraction is 15/16. Find the original fraction. 

 (A) 1/4   (B) 3/4   (C) 3/16   (D) 15/4 
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 Ans - (B) 3/4  

 xU gpd;dj;jpd; njhFjpahdJ 15% mjpfhpf;fg;gl;L mjd; gFjpahdj 8% Fiwf;fg;gl;L 
tUk; gpd;d kjpg;G 15/16 vdpy;> njhlf;f gpd;dk; vd;d? 

 (A) 1/4   (B) 3/4   (C) 3/16   (D) 15/4 

 Ans - (B) 3/4  

175. What is the value of 3+4[a-{13-4(7+2)+6}+9] ? 

 (A) 231  (B) 213  (C) 123  (D) 132 

 Ans - (C) 123 

3+4 [a- {13-4 (7+2) + 6} + 9] d; kjpg;G ahJ? 

 (A) 231  (B) 213  (C) 123  (D) 132 

 Ans - (C) 123 

176. The ratio of incomes of A and B is 5 : 4 and the ratio of their expenditure is 3 : 2. If at the end 

each month, each saves Rs. 1,600, then the monthly income of B is 

 (A) Rs. 3, 200  (B) Rs. 4,000  (C) Rs. 3,600  (D) Rs. 4,400 

 Ans - (A) Rs. 3, 200 

 A kw;Wk; B apd; tUkhdj;jpd; tpfpjq;fs; 5:4 ,th;fspd; nryTfspd; tpfpjk; 3:2 xU khj 
Kbtpy; ,th;fs; ,UtUk; jdpj;jdpNa &.1>600 Nrkpj;jhh;fs; vdpy;> B d; khj tUkhdk; 
vt;tsT? 

 (A) &. 3, 200  (B) &. 4,000  (C) &. 3,600  (D) &. 4,400 

 Ans - (A) &. 3, 200 

177. The speed of three cars are in the ratio 5 : 4 : 6. The ratio between the time taken by them to 

travel the same distance is 

 (A) 5 : 4 : 6  (B) 6 : 4 : 5  (C) 10 : 12 : 15  (D) 12 : 15 : 10 

 Ans - (D) 12 : 15 : 10 

 %d;W fhh;fspd; Ntfq;fspd; tpfpjk; KiwNa 5:4:6 ,e;j %d;W fhh;fs; xNu J}uj;ij 
flf;f vLj;Jf; nfhs;Sk; Neuq;fspd; tpfpjk; 

(A) 5 : 4 : 6  (B) 6 : 4 : 5  (C) 10 : 12 : 15  (D) 12 : 15 : 10 

 Ans - (D) 12 : 15 : 10 

178. Three solid cubes of sides 1cm, 6cm and 8cm are melted to form a new cube. Find the total 

surface area of the cube so formed ? 

 (A) 384 cm
2 

 (B) 456 cm
2  

(C) 486 cm
2 

 (D) 430 cm
2 

 Ans - (C) 486 cm
2 
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 1 nr.kP> 6 nr.kP kw;Wk; 8 nr.kP gf;fq;fis cila %d;W fd rJuq;fis cUf;fp xU 
Gjpa fd rJuk; nra;jhy;> mjd; nkhj;j Gw gug;gsT vd;d? 

 (A) 384 cm
2 

 (B) 456 cm
2  

(C) 486 cm
2 

 (D) 430 cm
2 

 Ans - (C) 486 cm
2 

179. The simple interest at x% for x years will be Rs. X on a principal of  

 (A) Rs. x  (B) Rs. 100/x  (C) Rs. 100x  (D) Rs. 100/x
2 

 Ans - (B) Rs. 100/x 

 ve;j mryhdJ x% jdptl;bf;F x tUlq;fSf;F &.x vd;w jdptl;biaj; jUk; 

 (A) Rs. x  (B) Rs. 100/x  (C) Rs. 100x  (D) Rs. 100/x
2 

 Ans - (B) Rs. 100/x 

180. Three numbers are in the ratio 2 : 3 : 5. The first number, the second number reduced by 5 and the 

third number form an arithmetic sequence. Then the numbers are 

 (A) 10, 15, 25  (B) -20, -30, -50  (C) 7, 10, 14  (D) -10, 5, 7 

 Ans - (B) -20, -30, -50 

 %d;W vz;fspd; tpfjk; 2:3:5 vd;f. Kjyhk; vz;> ,uz;lhk; vz;zpypUe;J 5-If; 
fopj;Jg; ngwg;gLk; vz; kw;Wk; %d;whk; vz; Mfpad xU $l;Lj; njhlh; thpiria 
Vw;gLj;jpdhy;> mt;ntz;fisf; fhz;. 

 (A) 10, 15, 25  (B) -20, -30, -50  (C) 7, 10, 14  (D) -10, 5, 7 

 Ans - (B) -20, -30, -50 

181. The difference between simple interest and compound interest at 10% per annum each on Rs. 

1,200 for one year if reckoned half yearly is 

 (A) Rs. 2.50  (B) Rs. 3  (C) Rs. 4  (D) Rs. 4.50 

 Ans - (B) Rs. 3 

 &.1>200-I 10% tl;b tpfpjj;jpy; jdptl;bf;Fk;> $l;Ltl;bf;Fk; 6 khjj;jpw;F xU Kiw 
fzf;fpl;lhy; tuf;$ba tpj;jpahrk; vd;d? 

 (A) Rs. 2.50  (B) Rs. 3  (C) Rs. 4  (D) Rs. 4.50 

 Ans - (B) Rs. 3 

182. The Arabian sea branch of South West monsoon causes no rainfall to this region 

 (A) Malabar coast  (B) Konkan coast   

(C) Western ghats  (D) Coromandel coast 

Ans - (D) Coromandel coast 

njd;Nkw;F gUtf;fhw;wpd; mugpf;fly; fpis ,g;gFjpf;F kiog;nghopit nfhLg;gjpy;iy  
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(A) kyghh; flw;fiu    (B) nfhq;fd; flw;fiu 

(C) Nkw;Fj; njhlh;r;rpkiy   (D) Nrhokz;ly flw;fiu 

Ans – (D) Nrhokz;ly flw;fiu 

183. Identify the oil field which is not located in the west coast of India 

 (A) Bassein  (B) Ankleshwar  (C) Aliabet  (D) Nahorkatia 

 Ans - (D) Nahorkatia 

,e;jpahtpd; Nkw;F flw;fiug; gFjpapy; mike;jpuhj vz;nza; taiy milahsk; 
fhz;f. 

(A) Ngnra;d;  (B) mq;fNy];th; (C) mypangl;  (D) ehfh;fhl;bah 

Ans – (D) ehfh;fhl;bah 

184. The shape of the mid-Atlantic Ridge is  

 (A) ‘S’  (B) ‘L’  (C) ‘U’  (D) ‘T’ 

 Ans - (A) ‘S’  

 kj;jpa ml;yhz;bf; flyb kiyj; njhlhpd; tbtk; 

 (A) ‘S’  (B) ‘L’  (C) ‘U’  (D) ‘T’ 

 Ans - (A) ‘S’  

185. The popular Stockholm Earth summit was held in 

 (A) 1972  (B) 1992  (C) 2002  (D) 2012 

 Ans - (A) 1972 

 Gfo;ngw;w ‘];lhf;N`hk; cr;rp khehL’ eilngw;w Mz;L. 

 (A) 1972  (B) 1992  (C) 2002  (D) 2012 

 Ans - (A) 1972 

186. Match the following : 

 Initiatives for women empowerment   Purpose 

 (a) Rashtriya Mahila Kosh  1. Women in villages and slum work in Angan – Wadi  

      centres 

 (b) Swadhar    2. Upgrade skills of poor and asset – less women 

 (c) Training and employment   3. Credit facilities to women 

programme for women 

(d) Indira Mahila Yojna 4. Address to the need of women in difficul 

circumstances 
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(a) (b) (c) (d) 

 (A)  2 3 1 4 

 (B) 3 4 2 1 

 (C) 1 2 4 3 

 (D) 4 1 3 2 

 Ans - (B) 3 4 2 1 

 gpd;tUtdtw;iw nghUj;Jf : 

  ngz;fs; mjpfhuj;jpw;fhd Kd;Kaw;rpfs;  Fwpf;Nfhs;fs; 

(a) uh\;bhpa k`pyh Nfh\; 1. mq;fd;thb ikaq;fspy; gzpGhpAk; 
fpuhkq;fs; kw;Wk; FbirapypUf;Fk; ngz;fs; 

(b) Rtjhh; 2. Vio kw;Wk; nrhj;J ,y;yhj ngz;fspd; 
jpwikfis cah;j;JtJ. 

(c) ngz;fSf;fhd gapw;rp kw;Wk;  3. ngz;fSf;fhd fld; trjpfs; 

 Ntiytha;g;G jpl;lk; 

(d) ,e;jpuh k`pyh Nah[;dh 4. fbdkhd re;jh;g;g epiyfspy; ngz;fspd; 
Njitfis G+h;j;jp nra;tJ. 

(a) (b) (c) (d) 

 (A)  2 3 1 4 

 (B) 3 4 2 1 

 (C) 1 2 4 3 

 (D) 4 1 3 2 

 Ans - (B) 3 4 2 1 

187. Which article of the Indian constitution define the fundamental duties of citizens ? 

 (A) Article 51 A   (B) Article 44 

 (C) Article 41 A   (D) Article 52 

 Ans - (A) Article 51 A 

 ,e;jpa murpayikg;gpd; ve;j tpjp mbg;gil flikfisg; gw;wp $WfpwJ? 

 (A) tpjp 51 A     (B) tpjp 44 

 (C) tpjp 41 A     (D) tpjp 52 

 Ans - (A) tpjp 51 A 

188. The National Human Rights commission is a 
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 (A) Statutory body   (B) Non constitutional body 

 (C) Autonomous body   (D) Voluntary institution 

 Ans - (A) Statutory body 

 Njrpa kdpj chpikfs; Mizak; xU 

 (A) epiyahd rl;lG+h;tkhd mikg;G   (B) murpayikg;G rhuhj mikg;G 

 (C) Ra Ml;rp mikg;G     (D) jd;dhh;t epWtdk; 

 Ans – (A) epiyahd rl;lG+h;tkhd mikg;G   

189. Which among the following statements is NOT TRUE above CVC ? 

 (A) is an apex Indian governmental body 

 (B) created in 1964 

 (C) is an investigating agency 

 (D) it has the status of an autonomous body 

 Ans - (C) is an investigating agency 

gpd;tUk; $w;Wfspy;> kj;jpa Coy; fz;fhzpg;G Mizaj;ijg; gw;wpa cz;ikapy;yhj 
$w;W vJ? 

(A) ,J xU Nkykl;l murhq;ff; FO 
(B) ,J 1964 Mk; Mz;L cUthf;fg;gl;lJ. 
(C) ,J xU Gyd; tprhuiz FOkk; 
(D) ,J xU jd;dhl;rpf;F ,izahd epiy cilaJ. 

Ans –(C) ,J xU Gyd; tprhuiz FOkk 

190. Which part of the Indian constitution deals with Panchayat Raj ? 

 (A) Part VIII  (B) Part X  (C) Part IX  (D) Part XI 

 Ans - (C) Part IX 

 ,e;jpa murpayikg;gpd; ve;j gFjp gQ;rhaj;J uh[; mikg;igg; gw;wp $WfpwJ? 

 (A) gFjp VIII  (B) gFjp X  (C) gFjp IX  (D) gFjp XI 

 Ans - (C) gFjp IX 

191. Scientists of which country have recently discovered the new rare planet with triple star system ? 

 (A) UK  (B) USA  (C) Canada  (D) Germany 

 Ans - (B) USA 

ve;j ehl;ilr; Nrh;e;j mwptpay; mwpQh;fs; rkPgj;jpy; %d;W> el;rj;jpu mikg;igAila 
mhpa tif fpufj;ijf; fz;Lgpbj;Js;sdh;? 

(A) ,q;fpyhe;J     (B) mnkhpf;f If;fpa ehL 
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(C) fdlh     (D) n[h;kdp 

Ans – (B) mnkhpf;f If;fpa ehL 

192. When and where will the 22
nd

 commonwealth games be held ? 

 (A) 2020, Aukland, New Zealand  (B) 2022, Durban, South Africa 

 (C) 2018, Perth, Australia   (D) 2022, New Delhi, India 

 Ans - (B) 2022, Durban, South Africa 

22-Mk; fhkd; nty;j; tpisahl;Lg; Nghl;bfs; vg;NghJ> vq;Nf eilngwTs;sJ? 

 (A) 2020> Mf;nye;j;> epA+rpyhe;J   (B) 2022> lh;gd;> njd;Mg;gphpfh 

 (C) 2018> ngh;j;> M];jpNuypah    (D) 2022> GJjpy;yp> ,e;jpah 

Ans - (B) 2022> lh;gd;> njd;Mg;gphpfh 

193. ‘Ankush Dahiya’ is associated with which sports ? 

 (A) Tennis  (B) Cricket  (C) Boxing  (D) Archery 

 Ans - (C) Boxing 

 ‘mq;F]; jd;dpah’ ve;j tpisahl;Lld; njhlh;G cilath;? 

 (A) nld;dp];  (B) fphpf;nfl;  (C) Fj;Jr; rz;il  (D) tpy;tpj;ij 

Ans – (C) Fj;Jr; rz;il 

194. According to National Telecom Policy 2012 (NTP – 2012) increase in rural tele-density by the 

year 2017 will be 

 (A) 70%  (B) 100%  (C) 75%  (D) 50% 

 Ans - (A) 70% 

 Njrpa jfty; njhlh;G nfhs;if 2012 gb 2017-k; Mz;bw;Fs; fpuhkGw njhiynjhlh;G 
mlh;T vj;jid rjtpfpjk; mjpfhpf;gg;gLk;? 

 (A) 70%  (B) 100%  (C) 75%  (D) 50% 

 Ans - (A) 70% 

195. Using the under sea optical fibre cable, the project “Bay of Bengal Gateway”(BBG) connects 

which two countries ? 

 (A) Andaman and Nicobar Islands and Chennai 

 (B) India and Srilanka 

 (C) Malaysia and Oman  

 (D) Malaysia and Middle East Countries 

 Ans - (A) Andaman and Nicobar Islands and Chennai 
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 flypy;> Mg;bfy; iggh; Nfgps; %yk;> ‘Ng M/g; ngq;fhy; Nfl;Nt’ vd;w jpl;lj;jpy; ve;j 
,U ehLfs; ,izf;fg;gLfpwJ? 

(A) me;jkhd; epNfhghh; jPTfs; kw;Wk; nrd;id 
(B) ,e;jpah kw;Wk; ,yq;if 

(C) kNyrpah kw;Wk; Xkd; 
(D) kNyrpah kw;Wk; kj;jpa fpof;F ehLfs; 

 

Ans – (A) me;jkhd; epNfhghh; jPTfs; kw;Wk; nrd;id 

196. From which Assembly constituency the Jammu and Kashmir chief minister ‘Mehbooba Mufti’ 

contested the by election in June 2016 ? 

 (A) Anantag  (B) Baramullah  (C) Kargil  (D) Bijbehara 

 Ans - (A) Anantag 

 [Pd; 2016-y; eilngw;w rl;l kd;w ,ilj;Njh;jypy; [k;K-fh\;kPh; khepy Kjy;th; 
‘nk ;̀G+gh Kg;b’ Nghl;bapl;l rl;l kd;w njhFjp vJ? 

 (A) mdd;lhf;  (B) ghuKy;yh  (C) fhh;fpy;  (D) gp[;ng`huh 

 Ans – (A) mdd;lhf 

197. Which Indian language became the “third most common” in the parliament of Canada ? 

 (A) Tamil  (B) Telugu  (C) Hindi  (D) Punjabi 

 Ans - (D) Punjabi 

 Fdlh ehl;bd; ghuhSkd;wj;jpy; %d;whtJ gpujhd nkhopahf cs;s ,e;jpa nkhop 
ahJ? 

 (A) jkpo;  (B) njYq;F  (C) ,e;jp  (D) gQ;rhgp 

Ans – (D) gQ;rhgp 

198. Which country will be hosting the 2018 world cup football tournament ? 

 (A) England  (B) Germany  (C) Russia  (D) France 

 Ans - (C) Russia 

 2018-k; Mz;bd; cyf Nfhg;ig fhy;ge;J Nghl;b ve;j ehl;by; eilngw cs;sJ? 

 (A) ,q;fpyhe;J  (B) n[h;kdp  (C) u\;ah  (D) gpuhd;]; 

Ans – (C) u\;ah 

199. Who is the author of the book The Turbulent Years ? 

 (A) Pranab Mukerjee    (B) Alok Kumar Verma 

 (C) Pramod Kapoor    (D) Kartar Lalvani 

 Ans - (A) Pranab Mukerjee  
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 “jp lh;Gyz;l; <ah;];” vd;w Gj;jfj;jpd; vOj;jhsh; ahh;? 

 (A) gpuzhg; Kfh;[p    (B) mNyhf; Fkhh; th;kh 

 (C) gpuNkhj; fG+h;    (D) fh;j;jhh; yhy;thzp 

 Ans – (A) gpuzhg; Kfh;[p  

200. USAID and ADB collaborative effort for development of solar park will initially focus on the 

state of 

 (A) Rajathan  (B) Haryana  (C) Gujarat  (D) Andhra Pradesh 

 Ans - (A) Rajathan 

 Av];VIb kw;Wk; Vbgp ,ize;J nrayhw;wp cUthf;fpa #hpa G+q;fh Kjd;Kjyhf 
ve;j khepyj;jpd; kPJ xUKfg;gLj;jg;gltpUf;fpwJ? 

(A) uh[];jhd;  (B) `hpahdh  (C) F[uhj;  (D) Me;jpu gpuNjrk; 

Ans – (A) uh[];jhd; 


